SILVER MOMKEY *

User Manual
Instrukcja Obstugi
Bedienungsanleitung
Manuel D'utilisation
Gebruiksaanwijzing

SMXG026

English

Carefully read these instructions before using the product. Keep it
for future reference

Safety information

- Pay attention to the load capacity of the chair. Only one person at
a time should sit on the chair.

- Do not sit on the edge of the seat. Do not stand or kneel on the seat.

- Do not put your fingers in the seat's adjusting mechanisms.

+ Check and tighten bolts regularly.

- Do not place the chair in direct sunlight. It may discolour the fabric

+ Use both hands on the armrests or the backrest to move it.

- Avoid contact with sharp objects

- Use a mat under the chair if your floor scratches easily.

- Clean the chair with a damp cloth or with chemicals designed for
this purpose

Package contents

5x Wheels

Base

Gas Lift

Telescopic cover
Tilting mechanism
Armrests

Backrest

Seat

4x Screw M6 20 mm
8x Screw M6 25 mm
8x Screw caps

Key

@ )

= 0 [ [ @A

F ==

Warranty and technical support

Your product is covered by a 24-month manufacturer’s warranty.
For more information go to www.silvermonkey.com/support

If you have questions about using the product — contact us at

kontakt@silvermonkey.com

Manufacturer:
Silver Monkey sp. z 0.0., ul. Twarda 18, 00-105 Warszawa, Poland

Polski

Zanim uzyjesz produktu, doktadnie przeczytaj instrukcje obstugi
Zachowaj jg na przysztos¢.

Informacje o bezpieczernstwie

- Zwro¢ uwage na dopuszczalne obcigzenie fotela. Na fotelu
powinna siedzie¢ tylko jedna osoba na raz.

- Nie siadaj na krawedzi fotela. Nie stawaj ani nie klekaj na siedzisku.

- Nie wktadaj palcéw do mechanizméw regulacji fotela

- Regularnie sprawdzaj i dokrecaj sruby.

- Nie stawiaj fotela bezposrednio w $wietle stonecznym. Moze to
przebarwi¢ materiat.

- Aby przemiescic fotel, chwytaj go obiema rekami za podtokiet-
niki lub oparcie

- Unikaj kontaktu fotela z ostrymi przedmiotami

- Stosuj mate ochronng pod fotel, jesli Twoja podtoga tatwo sie rysuje.

- Fotel czy$¢ wilgotna Sciereczka lub $rodkami chemicznymi,
ktore sg do tego przeznaczone

Zawartos¢ opakowania

5x Kotka

Podstawa

Sitownik

Pokrywa teleskopowa
Mechanizm pochylania
Podtokietniki

Oparcie

Siedzisko

4x Sruby M6 20 mm
8x Sruby M6 25 mm
8x Zaslepki na sruby
Klucz

Al [=]

o
[E]

F ==

Gwarancja i wsparcie techniczne

Twdj produkt jest objety 24-miesieczng gwarancjg producenta.
Wiecej informacji znajdziesz na stronie internetowej
www.silvermonkey.com/support.

Jesli chcesz uzyskac wsparcie dotyczace uzywania produktu —
skontaktuj sie z nami pod adresem kontakt@silvermonkey.com

Producent:
Silver Monkey sp. z 0.0., ul. Twarda 18, 00-105 Warszawa, Polska

Deutsch

Bitte lesen Sie die Bedienungsanleitung sorgféltig durch, bevor Sie
das Produkt benutzen. Bewahren Sie diese fir die Zukunft auf.

Sicherheitshinweise

- Achten Sie auf die Belastungsfahigkeit des Sitzes. Es sollte immer
nur eine Person auf dem Sessel sitzen.

- Setzen Sie sich nicht auf die Kante des Sessels. Stehen oder knien
Sie nicht auf dem Sessel

- Stecken Sie Ihre Finger nicht in die Sesseleinstellmechanismen

- Priifen und ziehen Sie die Schrauben regelmafig nach.

- Stellen Sie den Sessel nicht direkt in das Sonnenlicht. Dadurch kann
sich das Material verfarben.

- Um den Sessel zu bewegen, fassen Sie ihn mit beiden Handen an
den Armlehnen oder der Riickenlehne.

- Vermeiden Sie den Konttakt zwischen dem Sessel und scharfen Gegenstanden.

+ Verwenden Sie eine Schutzmatte unter dem Sessel, wenn |hr Boden
leicht verkratzt

- Reinigen Sie den Sessel mit einem feuchten Tuch oder mit Chemikalien,
die fr diesen Zweck vorgesehen sind

Inhalt der Verpackung

5x Réder

Basis
Stuhl-Gasfederzylinder
Teleskopabdeckung
Kippmechanismus
Armlehnen
Riickenlehne

Sitz

4x Schraube M6 20 mm
8x Schraube M6 25 mm
8x Schraubkappen
Schlussel

[ [=]

@)

o
[E]
[

SR

F ==

Garantie und technischer Support

Auf Ihr Produkt erhalten Sie eine 24-monatige Herstellergarantie
Weitere Informationen finden Sie auf der Website
www.silvermonkey.com/support.

Wenn Sie Unterstiitzung bei der Verwendung des Produkts wiinschen
- kontaktieren Sie uns bitte unter kontakt@silvermonkey.com.

Hersteller:
Silver Monkey sp. z 0.0., ul. Twarda 18, 00-105 Warschau, Polen

Francais

Avant d'utiliser le produit, veuillez lire attentivement ces instructions.
Gardez-les pour vous y référer a l'avenir.

Consignes de sécurité

- Veuillez respecter la capacité de charge du fauteuil. Une seule
personne & la fois peut s'asseoir sur le fauteuil

+ Veuillez ne pas vous assoir sur le bord de I'assise. Veuillez ne pas
vous tenir debout ou a genoux sur le siege

- N'insérez pas vos doigts dans les mécanismes de réglage du fauteuil

- Vérifiez et resserrez les vis régulierement

- Ne placez pas le fauteuil directement & la lumiére du soleil. Risque
de décoloration du matériau

- Pour déplacer le fauteuil, saisissez-le & deux mains par les
accoudoirs ou le dossier.

+ Bvitez tout contact entre le siége et les objets tranchants

- Si votre sol raye facilement, utilisez un tapis de protection sous le fauteuil.

- Nettoyez le fauteuil avec un chiffon humide ou avec des produits
chimiques prévu a cet effet

Contenu de I'emballage

5x Roulettes
Base
Piston Ascenseur a Gaz

[ [>]

[

[0l Couvercle télescopique
[E] Mécanisme diinclinaison
[F] Accoudoirs
Dossier
Siege
[1] 4x Vis M6 20 mm
[3] 8x Vis M6 256 mm
8x Capuchons & vis

Garantie et assistance technique

Votre produit est couvert par une garantie du fabricant de 24 mois.
Pour plus d'informations, veuillez consulter le site web
www.silvermonkey.com/support.

Si vous souhaitez obtenir de |'aide pour utiliser les produits, veuillez
nous contacter a l'adresse suivante kontakt@silvermonkey.com.

Fabricant:

]
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
i
'
'
i
'
'
'
|
'

Clé '
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
i
'
!

Silver Monkey sp. z 0.0., ul. Twarda 18, 00-105 Warszawa, Pologne. |

|
'

Voordat u het product gaat gebruiken lees aandachtig de gebrui-
kaanwijzing. Bewaar deze voor later.

Veiligheidsinformatie

- Let op de toelaatbare belasting van de bureaustoel. Er mag slechts
één persoon tegelijk op bureaustoel zitten

- Ga niet op de rand van bureustoel zitten. Niet staan en niet knielen
op de stoelzitting

+ Plaats uw vingers niet in de stoelverstelmechanismen

- Controleer en draai regelmatig de schroeven vast.

- Plaats de bureaustoel niet in directe zonlicht. Het kan de verkleuring
van de stof veroorzaken.

- Om bureaustoel te verplaatsen houd hem met beide handen bij
armleuningen of de rugleuning vast.

- Vermijd contact van de bureaustoel met scherpe voorwerpen.

« Indien uw vloer gemakkelijk kras,t gebruik een beschermingsmat
onder bureaustoelstoel

- Maak bureaustoel schoon met een vochtige doek of daarvoor
bestemde chemicalién.

Inhoud verpakking

5x Wielen

[8] Basis

[c] Gaslift
Telescopische hoes
Kantelmechanisme

Zitting

4x Schroef M6 20 mm
8x Schroef M6 25 mm
8x Schroefdoppen
Sleutel

F ==

Garantie en technische hulp

Uw product heeft fabrieksgarantie van 24 maanden. Meer informaties
vindt u op internetsite www.silvermonkey.com/support

Indien u hulp nodig hebt mbt gebruik van de producten- neem contact

met ons op via kontakt@silvermonkey.com.

Fabrikant:
Silver Monkey sp. z 0.0., ul. Twarda 18, 00-105 Warschau, Polen



SILVER MOMKEY *

Manuale D'uso

Manual de Instrucciones
UZivatelska Prirucka
Navod na PouZivanie
Instructiuni de Utilizare

SMXG026

Manual version 1/20230719

Italiano

Prima di utilizzare il prodotto si raccomanda di leggere attentamente
il manuale d'uso e conservarlo per eventuali consultazioni future.

Informazioni sulla sicurezza

« Fare attenzione al carico ammesso della poltrona. Sulla poltrona
deve essere seduta nello stesso tempo una sola persona.

+ Non sedersi sul bordo della poltrona. Non mettersi in piedi o in
ginocchio sul sedile

+ Non inserire le dita allinterno dei meccanismi di regolazione della poltrona.

- Verificare sistematicamente e serrare le viti

+ Non esporre la poltrona direttamente ai raggi solari che possono
discolorare il materiale

« Per spostare la poltrona pigliarla per i bracciali o per lo schienale
con entrambe le mani

- Evitare il contatto della poltrona con oggetti affilati

- Posizionare un tappetino protettivo sotto la poltrona, se il tuo
pavimento si graffia facilmente.

+ Pulire la poltrona con uno straccio umido o con prodotti chimici
dedicati

Contenuto dell'imballaggio

5x Ruote

Base

Pistone Gas
Coperchio telescopico
Meccanismo di inclinazione
Braccioli

Schienale

Sedile

4x Vite M6 20 mm

8x Vite M6 25 mm

8x Tappi a vite

Chiave

@ )

= 0 [ @ @

[F ==

Garanzia e supporto tecnico

II'tuo prodotto & coperto dalla garanzia del produttore con la validita
di 24 mesi. Informazioni pit dettagliate sono disponibili sul sito
internet www.silvermonkey.com/support

Se hai bisogno del supporto concernente |'utilizzo dei prodotti —
contattaci allindirizzo kontakt@silvermonkey.com

Costruttore:
Silver Monkey sp. z 0.0., ul. Twarda 18, 00-105 Varcasia, Polonia.

Espafiol

Antes de utilizar el producto lee con atencién el manual de instruc-
ciones. Consérvalo para futuras referencias.

Informacion sobre seguridad

- Presta atencion a la carga admisible del sillon. En el sillén solo
deberia sentarse una persona a la vez.

- No te sientes en el borde del sillén. No te pongas de pie ni de
rodillas en el asiento.

+ No introduzcas los dedos en los mecanismos de regulacion del sillon.

+ Comprueba regularmente y aprieta los tornillos.

+ No coloques el sillon directamente bajo la luz solar. Esto puede
decolorar el material

+ Para desplazar el sillén agarralo con ambas manos por los
reposabrazos o el respaldo.

- Evita el contacto del sillén con objetos agudos.

- Emplea una alfombrilla protectora bajo el sillon si tu suelo se
arafia con facilidad

- Limpia el sillén con una bayeta mojada o productos quimicos
destinados para ello

Contenido de la caja

5x Ruedas

Base

Cilindro Elevador De Gas
Tapa telescopica
Mecanismo de inclinacion
Reposabrazos

Respaldo

Asiento

4x Tornillo M6 20 mm
8x Tornillo M6 25 mm
8x Tapones de rosca
Llave

@ )

= 0 [ [ @A

BEEC

Garantia y asistencia técnica

Tu producto tiene una garantia de 24 meses del fabricante. Encontra-

ras mas informacion en la pagina web www.silvermonkey.com/support.
Si quieres obtener asistencia sobre el uso de los productos, contacta

con nosotros en la direccion kontakt@silvermonkey.com

Fabricante:
Silver Monkey sp. z 0.0., ul. Twarda 18, 00-105 Varsovia, Polonia.

Pred pouzitim vyrobku si pozorné prectéte navod k obsluze. Uschovejte
si jej pro budouci pouZiti.

Bezpecnostni pokyny

- Vénuijte pozornost pripustnému zatizeni kiesla. Na kfesle mtize
sedét vzdy pouze jedna osoba.

- Nesedejte na okraj kiesla. Nestavejte ani neklekejte na sedadlo!

- Nevkladejte prsty do mechanismu nastaveni kfesla

« Pravidelné kontrolujte a utahujte Srouby.

- Neddvejte kieslo na pfimé slunecni svétlo. Mlize to zménit barvu
materidlu

+ Cheete-li kfeslo presunout, uchopte jej obéma rukama za podrucé-
ky nebo opéradlo

« Zabrarite kontaktu kiesla s ostrymi pfedméty.

+ Pokud se podlaha snadno poskrabe, pouZijte pod kfeslo ochran-
nou podlozku.

« Kreslo Cistéte vihkym hadfikem nebo chemickymi prostredky,
které jsou k tomu urceny.

Obsah baleni

5x Kolecka

Zékladna

Plynovy pist
Teleskopicky kryt
Naklapéci mechanismus
Podrucky

Opéradlo

Sedadlo

4x Sroub M6 20 mm
8x Sroub M6 25 mm
8x Sroubovaci uzavéry
Klie

@ )

= 0 [ [ [ [

[F = =

Zaruka a technicka podpora

Na vyrobek se vztahuje 24mésicni zaruka vyrobce. Vice informaci
najdete na webovych strankdch www.silvermonkey.com/support.
Pokud chcete ziskat podporu pro pouzivani vyrobku — kontaktujte

nas na adrese kontakt@silvermonkey.com

Vyrobce:
Silver Monkey sp. z 0.0., ul. Twarda 18, 00-105 Warszawa, Polsko.

Slovensky

Predtym, ako za¢nete pouzivat produkt, pozorne si precitajte navod
na pouzivanie a uschovajte si ho pre pouZitie v budtcnosti.

Bezpecnostné upozornenia

« Venujte pozornost pripustnému zatazeniu kresla. Na kresle smie
naraz sediet iba jedna osoba.

- Nesadajte si na okraj kresla. Nestavajte sa a neklakajte si na sedadlo.

+ Nevkladajte prsty do mechanizmov uréenych na nastavovanie kresla.

- Pravidelne kontrolujte a dotahuijte skrutky.

- Neumiestriujte kreslo na priame slnecné svetlo. MéZe to sposobit
zmenu farby I4tky.

- Ak chcete premiestnit kreslo, chytte ho oboma rukami za laktové
opierky alebo operadio.

+ Zabrarite kontaktu kresla s ostrymi predmetmi

« Pouzivajte ochrannti podlozku pod kreslo, ak sa Vasa podlaha lahko
poskriabe.

- Cistite kreslo vihkou handrigkou alebo chemickymi prostriedkami,
ktoré s na to urceng.

Obsah balenia

5x Kolieska

Zékladna

Plynovy piest
Teleskopicky kryt
Sklapaci mechanizmus
Laktové opierky
Operadlo

Sedadlo

4x Skrutka M6 20 mm
8x Skrutka M6 25 mm
8x Skrutkové uzavery
Klie

@ )

= 0 [ [ [ A

BEEE

Zaruka a technicka podpora

Vyrobca poskytuje 24-mesacnu zaruku na Vas produkt. Viac infor-
macii ndjdete na webovej strénke www.silvermonkey.com/support.
Ak potrebujete pomoc tykajticu sa pouzivania produktov — kontaktujte

nas na adrese kontakt@silvermonkey.com

Vyrobca:
Silver Monkey sp. z 0.0., ul. Twarda 18, 00-105 Varsava, Polsko

Citeste cu atentie instructiunile de utilizare, inainte de folosirea
produsului. Pastreaza-le pentru viitor.

Informatii despre siguranta

+ lan considerare sarcina admisd a scaunului. Pe scaun ar trebui
s& stea asezatd o singurd persoand la un moment dat.

- Nu te aseza pe marginea scaunului. Nu sta in picioare si nu
ingenunchea pe sezut

+ Nu insera degetele in mecanismele de reglare a scaunului

- Verifica si strange suruburile in mod regulat

+ Nu expune scaunul direct la lumina soarelui. Acest lucru poate
decolora materialul

« Pentru a deplasa scaunul, prinde-| cu ambele méini de cotiere sau
de spétar.

- Evita contactul scaunului cu obiectele ascutite.

- Foloseste un covoras de protectie sub scaun, daca pardoseala ta
se zgarie usor.

« Curdtd scaunul cu o carpa umeda sau cu produse chimice,
destinate acestui scop.

Continutul ambalajului

5x Roata

Baza

Cilindru cu gaz
Capac telescopic
Mecanism inclinare
Cotiere

Spatar

Sezut

4x Surub M6 20 mm
8x Surub M6 25 mm
8x Capace cu suruburi
Cheie

=] [>]

= [ (¥ [m] (o] [A)

=R

Garantie si asistenta tehnica

Produsul tdu este acoperit de o garantie a producétorului de 24 de
luni. Mai multe informatii vei gasi pe pagina web
www.silvermonkey.com/support.

Dacé vrei sa obiii sprijin cu privire la utilizarea produselor — contactea-
z&-ne la adresa kontakt@silvermonkey.com

Producator:
Silver Monkey sp. z 0.0., ul. Twarda 18, 00-105 Varsovia, Polonia



